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May Test of Core Maths

Class — XI (2024-25) Set-B
Time : 1 hour M.M. 30
Instructions :

1. All questions are compulsory.
2. This question paper has 3 Sections. Section A has 12 questions of 1 mark each.
Section B has 6 Questions of 2 marks each. Section C has 2 questions of 3 marks each.

Section - A
Q1 The value of [ -10.7] -[ 10.6]is  ( where [ ] stands for greatest integer function)
a) -18 b) -19 c)-21 d)o

Q2 If Ais the set of the alphabets used in the word MATHEMATICS then the number of proper subsets of
A are

a) 27 b) 26 c)211-1 d)28-1
Q3 Which of the following is a null set

a) {0} c) {x:x+3=3}
b) {x: x is neither positive nor negative, x € R} d) {x:x€N,8<x<9}

Q4 Which of the following set is subset of A= {{1,2}, 3,4, 5,6, 7}
a) {2} b) {1,2} c) {5,6} d) {{1,2}}
Q5 If P={2, 7} and Q = {4, 8} then number of relations from set P to set Q are
a) 16 b) 64 c) 63 d) 45

Q6 Among these Relations given below, choose that Relation which is not Function :

a) A={(2,1),(3, 1)} c) A={(2,3),(24),3,4),(46)}
b) C={(2,4),(3,5),(4 8)} d)D={(3,1),(2,3),(4,6)}
Q7 The domain of the function f(x) = 52412
a) R— (2,6 bR {1} OR- (-1} AR - {0}

Q8 The domain and range are same for

a) Constant function c) Identity Function
b) Signum Function d) Greatest Integer Function
QOIfU={1,2,3,.......... , 12}, A={8,9,10,11} and B={1,2,3,4,5,7,8,9}
then (A—B)'is
a) {1,2,3,4,5,6,7,8,9,12} b){6,8,9,10,11, 12} c){1,4,7,8} d ¢
QIOANA'=
a) A b) @ c) A’ d)U
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Q11 The domain and range of f(x) = [x] is

a) Domain=R and Range=R

b) Domain=R and Range=27

c) Domain=(0, ) and Range = (- 0o, 00)
d) Domain =R and Range = {0, oo}

Choose according to these options in Q 12

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true and R is not the correct explanation of A.
c) Ais true and R is false.

d) Ais false and R is true.

Q12 Assertion(A) : Let A= { 1, 2,3} and B = { 3, 4, 5} then number of relations from A to B
are 16
Reason (R): If n(A) = p and n(B) = q then number of relations from A to B are p x q

Section — B

Q13 Let f, g: R— R be defined, respectively by g(x) =x+ 1, f(x) =2x — 3. Find f+g, f— g, f—)

Q 14 Show thatif Ac B,thenC—-B c C—-A

Q15 Find the range of the function: f(x) =3 -2x,x ER, x>0

Q16 Define a relation R on the set of natural numbers N by
R={(x,y):y=x+8, x is natural number less than 5 and x, y € N}

i) Depict this relation in its roster form.
ii) Write the domain of R.
iii) Write the range of R.

Q 17 Determine whether the given statement is true or false. If it is true, prove it. If it is false, give an
example. Statement: f X c YandY € Z, then X € Z

QI8IfUu={5,6,7,38,9,610,11,12}, A={7,8,9,10}andB={5,8,9, 10,11, 12}.
Verifythat (A UB)' =A' n B’
Section - C
Q19 Find the domain of the function : f(x) = V49 — x2
Q20 Let A, B and C be sets such that ANB=AnNCand AU B =AU C then show
that B=C.
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May Test of Core Maths

Class — XI (2024-25) Set - A
Time : 1 hour M.M. 30
Instructions :

1. All questions are compulsory.
2. This question paper has 3 Sections. Section A has 12 questions of 1 mark each.
Section B has 6 Questions of 2 marks each. Section C has 2 questions of 3 marks each.

Section - A

Q1 Which of the following set is subset of A = {1, {2}, 3, 4, {5, 6}, 7}

a) {2} b) {1,5} ¢) {5,6} d) {15, 6}}
Q2IfU={1,2,3,.......... , 12y, A={8,9,10,11} and B={1,2,3,4,5,7,8,9}

then (B—A)'is

a) {1,2,3,4,5,7} b) {6,8,9,10, 11, 12} c){1,4,7,8} d o
Q3 The value of [ -9.3] -[9.6] is ( where [ ] stands for greatest integer function)

a) -18 b) -19 c) -20 d)0

Q4 Which of the following is an empty set

2) {0} c) {x:x+3=3}
b) {x:xis both positive and negative, x € R} d) {x: x=3}
Q5SAUA =
a) A b) @ c) Al dU
Q6 The domain of the function f(x) = x—22_8x 2 .
x“+2x+1
a) R_{2,6} b)R—{l} C)R—{-]} d)R—{O}

Q7 If P={50, -51, 78} and Q = {45, 7, -8} then number of relations from set P to set Q are
a) 6 b) 64 c) 63 d) 45
Q8 Among these Relations given below, choose that Relation which is not Function :
a) A={(2,3),(2,4),(3,4),(456)} c) B={(2,1),(3,1)}
b) C={(2,4),(3,5), (4, 8)} d)D={(3,1),(2,3),(4,6)}
Q9 The domain and range are same for

a) Constant function ¢) Identity Function
b) Signum Function d) Greatest Integer Function

Q10 If A'is the set of the alphabets used in the word ALGEBRA then the number of proper subsets of A are

a) 27 b) 26 c)26-1 d)27-1
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Q11 The domain and range of f(x) = |x] is

a) Domain=R and Range=R

b) Domain = (- o0, ©) and Range = [0, x)
c¢) Domain=(0, ) and Range = (- o, )
d) Domain =R and Range = {0, oo}

Choose according to these options in Q 12

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true and R is not the correct explanation of A.
c) Ais true and R is false.

d) Ais false and R is true.

Q12 Assertion(A) : Let A= { 1,2} and B = { 3, 4} then number of relations from A to B
are 16
Reason ( R): If n(A) = p and n(B) = q then number of relations from Ato B arep x q
Section — B

Q13 IfU={5,6,7,8,9,10,11,12}, A={7,8,9,10}and B={5,8,9, 10,11, 12}.
Verifythat (A NB)'=A" U B’

Q 14 Show thatif Ac B,thenC—-B c C—-A

Q15 Define a relation R on the set of natural numbers N by
R={(x,y):y=x+5,x is a natural number less than 4 and x, y € N}

i) Depict this relation in its roster form.
ii) Write the domain of R.
i) Write the range of R.

Q 16 Determine whether the given statement is true or false. If it is true, prove it. If it is false, give an
example. Statement: f X c YandY € Z, then X € Z

Q17 Find the range of the function: f(x) =2 -3x,x ER, x>0
QI8 Let f, g: R— R be defined, respectively by f(x) =x+ 1, g(x) =2x - 3. Find f+g, f— g, g

Section - C

Q19 Find the domain of the function : f(x) = Vx?2 — 25
Q20 Let Aand B be sets. FANX=BNX=@ and AU X =B U X for some set X, show
that A = B.
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